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Solved Examples

1. Find the degree measure corresponding to

the following radian measures: ( )
cπ

6

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KXoUJUogHdBV


Watch Video Solution

2. Find the degree measure corresponding to

the following radian measures: 

Watch Video Solution

( )
c

4π

5

3. Find the degree measure corresponding to

the following radian measures: 

Watch Video Solution

(1.2)c

https://dl.doubtnut.com/l/_KXoUJUogHdBV
https://dl.doubtnut.com/l/_py8pgzoC8Xdu
https://dl.doubtnut.com/l/_7ZjZuH1B96y1
https://dl.doubtnut.com/l/_IQPYFXZ9UL9Q


4. Express  in radian measure 

Watch Video Solution

45020' 10' '

(π = 3. 1415)

5. The angles of a triangle are in the ratio

3:4:5. Find the smallest angle in degrees and

the greatest angle in radians.

Watch Video Solution

https://dl.doubtnut.com/l/_IQPYFXZ9UL9Q
https://dl.doubtnut.com/l/_5ZNHu3YrXXHQ


6. Find the angle between the hour-hand and

the minute-hand in circular measure at half

past 4

Watch Video Solution

7. The angles in a triangle are in A.P. and the

ratio of the smallest angle in degrees to the

greatest angle in radians is  Find the

angle of the triangle in degrees and radians.

Watch Video Solution

60: π

https://dl.doubtnut.com/l/_PILdRn6Zht1r
https://dl.doubtnut.com/l/_724GXvIns6nU


8. Find the radius of the circle in which a

central angle of  intercepts an arc 

(Use 

Watch Video Solution

450 132cm

π = )
22

7

9. Find the length of an arc of a circle of radius

10cm subtending an angle of  at the centre

Watch Video Solution

300

https://dl.doubtnut.com/l/_724GXvIns6nU
https://dl.doubtnut.com/l/_eVKpeGtQLFY6
https://dl.doubtnut.com/l/_FzPeRzcDUcfI
https://dl.doubtnut.com/l/_KAtoPbtuzWaR


10. The minute hand a watch is 35cm long.

How for does its tip move in 18minutes?

Watch Video Solution

(useπ = )
22

7

11. Assuming the distance of the earth from

the moon to be 38,400 km and the angle

subtended by the moon at the eye of a person

on the earth to be 31, �nd the diameter of the

moon.

Watch Video Solution

https://dl.doubtnut.com/l/_KAtoPbtuzWaR
https://dl.doubtnut.com/l/_6j8OSSElwknd


12. The wheel of a railway carriage is 40cm in

diameter and makes 6 revolutions in a second,

how fast is the train going?

Watch Video Solution

13. Assuming that a person of normal sight

can red print to such distance that the letters

subtend and angle of 5 at his eye, �nd is the

https://dl.doubtnut.com/l/_6j8OSSElwknd
https://dl.doubtnut.com/l/_r5zip1Xsbikt
https://dl.doubtnut.com/l/_LkyGAd159Vdx


Exercise

height of the letters that he can read at a

distance of 12 metres.

Watch Video Solution

1. Find the degree measures corresponding to

the radian measures: 

Watch Video Solution

( )
c

4π

3

https://dl.doubtnut.com/l/_LkyGAd159Vdx
https://dl.doubtnut.com/l/_1MCTR7ObtU5q


2. Find the degree measures corresponding to

the radian measures:

Watch Video Solution

(7 )
cπ

6

3. Find the degree measures corresponding to

the radian measures: 

Watch Video Solution

(5 )
cπ

3

https://dl.doubtnut.com/l/_eN8OZhI5Mghj
https://dl.doubtnut.com/l/_03PMTIq85ReW


4. Find the degree measures corresponding to

the radian measures:

Watch Video Solution

( )
c−5π

24

5. Find the degree measures corresponding to

the radian measures: 

Watch Video Solution

( − 2 )
cπ

3

https://dl.doubtnut.com/l/_OwSbwSh8ARU8
https://dl.doubtnut.com/l/_9BP3Okpp8lpK


6. Find the degree measures corresponding to

the radian measures: 

Watch Video Solution

(33 )
cπ

320

7. Find the degree measures corresponding to

the radian measures: 

Watch Video Solution

6c

https://dl.doubtnut.com/l/_KxEe2WI5RPzp
https://dl.doubtnut.com/l/_Sq2JzIfoB5IE


8. Find the degree measures corresponding to

the radian measures:

Watch Video Solution

( − 4)c

9. Find the degree measures corresponding to

the radian measures:

Watch Video Solution

( )
c11

16

https://dl.doubtnut.com/l/_e5pTsQnjteds
https://dl.doubtnut.com/l/_9sWa2BVMqBnl


10. Find the degree measures corresponding

to the radian measures:

Watch Video Solution

(2.64)c

11. Express the angles in radian measure:

Watch Video Solution

1050

12. Express the angles in radian measure:

Watch Video Solution

250

https://dl.doubtnut.com/l/_aLr0f6byMxyf
https://dl.doubtnut.com/l/_7jHMJXqzF17R
https://dl.doubtnut.com/l/_RAeaaDgS6JC7


13. Express the angles in radian measure:

Watch Video Solution

2400

14. Express the angles in radian measure:

Watch Video Solution

−560

15. Express the angles in radian measure:

Watch Video Solution

5200

https://dl.doubtnut.com/l/_RAeaaDgS6JC7
https://dl.doubtnut.com/l/_QBsaRAoyjaja
https://dl.doubtnut.com/l/_6zMS2WgE88jW
https://dl.doubtnut.com/l/_rDqFaUGrMbUM


16. Express the angles in radian measure:

Watch Video Solution

7030'

17. Express the angles in radian measure:

Watch Video Solution

4020'

18. Express the angles in radian measure:

42057' 16' '

https://dl.doubtnut.com/l/_rDqFaUGrMbUM
https://dl.doubtnut.com/l/_C8wcaRadBVwo
https://dl.doubtnut.com/l/_aYauhpPR9eVd
https://dl.doubtnut.com/l/_gtWoEA846KkV


Watch Video Solution

19. Express the angles in radian measure:

Watch Video Solution

−47030'

20. Two angle of a triangle are

 respectively. Find

the third angle in radions.

Watch Video Solution

72053' 51' and 41022' 50' '

https://dl.doubtnut.com/l/_gtWoEA846KkV
https://dl.doubtnut.com/l/_hb5TIUKZZTdo
https://dl.doubtnut.com/l/_pCUMFzdtdWbe


21. Find the angle between the hour-hand and

the minute-hand in circular measure at 

clock

Watch Video Solution

4O'

22. The angle of traingle are in A.P. and the

number of degrees in the least is to the

number of radians in the greatest is , �nd

the angles in degrees.

Watch Video Solution

36: π

https://dl.doubtnut.com/l/_pCUMFzdtdWbe
https://dl.doubtnut.com/l/_ME0bFiRxVK39
https://dl.doubtnut.com/l/_yoVLyoBLzgoE


23. Find the degree measure of the angle

subtended at the centre of a circle of radius

100cm by an are of length 22 cm

Watch Video Solution

(useπ = )
22

7

24. Find the radius of the circle in which a

central angle of  makes an arc of 187cm 450

(useπ = )
22

7

https://dl.doubtnut.com/l/_yoVLyoBLzgoE
https://dl.doubtnut.com/l/_ya7mAqIGwh01
https://dl.doubtnut.com/l/_PlqYQxld4A4u


Watch Video Solution

25. Find the radius of the circle in which a

central angle of  intercepts an arc of length

37.4cm 

Watch Video Solution

600

(useπ = )
22

7

26. In a circle of diameter 40cm the length of a

chord is 20 cm Find the length of the minor

arc

https://dl.doubtnut.com/l/_PlqYQxld4A4u
https://dl.doubtnut.com/l/_6qwPrESIfGo6
https://dl.doubtnut.com/l/_HVdUu63SuSM3


Watch Video Solution

27. At what distance does a man  ft. in

height, subtend an angle of 15" ?

Watch Video Solution

5
1

2

28. In two circles, arcs of equal length subtend

angles of  at their centres, show

that their radii are in the ratio 

Watch Video Solution

600 and 750

5: 4

https://dl.doubtnut.com/l/_HVdUu63SuSM3
https://dl.doubtnut.com/l/_f8wjMm4wHBn3
https://dl.doubtnut.com/l/_tjNKZXEd8UZV


29. If the arcs of same length in two circles

subtend angles of  at their

respective centres, �nd the ratio of their radii.

Watch Video Solution

750 and 1200

30. If arcs of the same lengths in two circles

subtend angles of  at the centre,

�nd the ratio of their radii.

Watch Video Solution

650 and 1100

https://dl.doubtnut.com/l/_4WDu9BdlnPnX
https://dl.doubtnut.com/l/_3CjkrUWh95Yc
https://dl.doubtnut.com/l/_0O6z9hHb4Bpj


31. Find the angle in radian through which a

pendulum swings if its length is 75cm and the

tip describes an arc of length: 10cm

Watch Video Solution

32. Find the angle in radian through which a

pendulum swings if its length is 75cm and the

tip describes an arc of length: 21cm

Watch Video Solution

https://dl.doubtnut.com/l/_0O6z9hHb4Bpj
https://dl.doubtnut.com/l/_4ZQV8cqTujZg
https://dl.doubtnut.com/l/_RkNDuGEFXBa0


33. Find the angle in radian through which a

pendulum swings if its length is 75cm and the

tip describes an arc of length:

Watch Video Solution

15cm(useπ = )
22

7

34. The minute hand of a watch is 1.5cm long.

How far does its tip move in 50 minutes.

Watch Video Solution

https://dl.doubtnut.com/l/_RkNDuGEFXBa0
https://dl.doubtnut.com/l/_01Z7GZqQSwwl


35. The minute hand of watch is 1.5 cm long.

How far does its tip move in 40 minutes?

Watch Video Solution

36. A wheel makes 30 revolutions per minute.

Find the radian measure of the angle

described by one of the spokes of the wheel in

 second

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_xJNnoQR9qrSt
https://dl.doubtnut.com/l/_spQRLMOcXZaA
https://dl.doubtnut.com/l/_5w8kCOTfsMED


37. A wheel makes 360 revolutions in one

minute. Through how many radians does it

turn in one second?

Watch Video Solution

38. Assuming the average distance of the

earth from the sun to be 149700000 km and

the angle subtended by the sun at the eye of a

person on the earth to be 32', �nd the sun's

diameter.

Watch Video Solution

https://dl.doubtnut.com/l/_5w8kCOTfsMED
https://dl.doubtnut.com/l/_Gu2CC5EPNx7g


39. A truck is travelling on a circular road of

radius 1500 metres at 66 km/hr. Through what

angle (in radians) does it turn in 10 second?

Watch Video Solution

40. If the angular diameter of the moon be 30,

how far from the eye a coin of diameter

 be kept to hide the moon?

Watch Video Solution

2. 2cm

https://dl.doubtnut.com/l/_Gu2CC5EPNx7g
https://dl.doubtnut.com/l/_XfhQM99wybZ0
https://dl.doubtnut.com/l/_2sachsk1abht


https://dl.doubtnut.com/l/_2sachsk1abht

